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Date: _______________ Period: ____

Vertical Shift:  Graphing 
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Practice # 1:  Sketch one positive period of 
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Recall how 
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 is related to 
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.  For any function 
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 is a _______________ shift.  If k is ______________, shift ________, or if k is ______________, shift ________.  

Sketch 
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 on the above axes.  
	(  Steps for graphing 
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:

1.  Identify ____, ____, and ____.

2.  Make a light sketch of ________________ (without the vertical shift)

3.  Identify the major points of interest on the sketch (__________________________________)

4.  Shift the all the points of interest ____ units up or ____ units down.  Graph 
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.  


Practice # 2:  Sketch one positive period of each function.
	a)  
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	c)  
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	(  Steps for writing the equation 
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:

1.  Identify the _________ of ___________________.  Take the average of the max and min.  
2.  Identify ____, ____, and ____.

3.  Determine ____ by counting the number of units the graph is shifted up or down from the _________.  


Practice # 3:  Determine a 
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 for each function.
	a)  
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Mixed Practice: Show all work and reasoning.  Use a pencil and highlight your answers.  
	1.  Graph 1 positive period for each function.  Label using radian measure.  
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	2.  Determine a 
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	a)  
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	3.  Solve for all values of (  between 
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.  Hint:  Rewrite the equation in terms of the trig ratio, then find the values for ( .  Draw sketches.  

	a)  
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	4.  Draw a sketch of 
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	5.  Find each angle value exactly.    Hint:  Graph the angle on a unit circle, then label the sides of the reference triangle (if applicable) to help you find the angle value.
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